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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an —--—---- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an ——eeeeeee in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ----=--—---- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience -----aeauuev for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ------------
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found --—---—----- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and ----——--—--- from years of being out in the
sun and the wind.
1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the --------- --- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is 100 —=-eeeeeen- an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ===eeemeen
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~===seeeeee-

each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart. verbal relaxation instructions, and (13) ------ . They found a temporary

enhancement of spatial-reasoning, (14) --—-=cemeeee spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ~=—meeeeeemm the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

It should be noted that the value of any information is derived from the actions that
management takes as a result of using that information. It follows that information
specialists need to know what type of tasks and functions management have to
perform so that they are able to produce relevant and usable information. The
functions of management can be grouped into five areas: planning: decision making:
organization and co-ordinating: leadership and motivation and control. Obviously, the
emphasis given to each area varies from manager to manager and is especially
dependent on the level of the manager in the organization. There are clear differences
in information requirements between a manager at the operational or transactional
level, such as transport supervisor. and a manager at the tactical level. such as accounts
or sales manager, or at the strategic level, such as managing director/board of
directors. At the highest (strategic) level, structured, formal MIS may actually be
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16-

17-

18-

19-

20-

counter-productive, for at these levels informal MIS (management information
systems) and external influences become increasingly important.

Another factor which affects the tasks a manager has to perform, and hence his or
her information requirements. is the extent of functional authority within an
organization. Functional authority is that which is exercised by specialists, managers
and staff throughout the various departments and units of the organization. Possibly,
the most common example of this is the personnel department which has functional
responsibilities for many personnel and industrial relations activities throughout the
whole organization. While each of the five functional areas which constitute the task
of management needs relevant information. three particular areas - planning. decision
making and control - make heavy demands on the organization's MIS.

This passage is mainly about —-—-eeneeeev s

1) management functions and levels

2) the importance of information to management
3) the value of information and tasks

4) producing usable and relevant information

The word "Obviously" in paragraph 1, line 6 means ~----=eeeeeex,

1) Additionally 2) Possibly

3) Clearly 4) Thoroughly

Level of the manager in an organization, according to the passage, -——------==-=--- .

1) is under the direct influence of external powers

2) relies heavily on information he has

3) is the primary requirement computing his capabilities

4) determines which functional area is more important to him

All of the following, based on the given information in the passage, are true EXCEPT

1) various information has different values

2) the personnel department has the highest functional authority

3) knowing what type of tasks and functions the management does is essential for
information specialists

4) a sales manager as well as an accountant are placed at the tactical level

Planning, decision making, and control —--—--—cceeeev .

1) put more pressure on organization's management information systems

2) are called the primary management tasks

3) need relevant information while two other areas don't

4) are the mere areas producing usable information

PASSAGE 2:

Authenticity of information is the quality of being genuine rather than a reproduction
or fabrication. Information is authentic when it is in the same state in which it was
created, placed, stored. or transferred. Consider for a moment some common
assumptions about e-mail. When you receive e-mail, you assume that a specific
individual or group created and transmitted the e-mail—you assume you know the
origin of the e-mail. This is not always the case. E-mail spoofing, the act of sending an
e-mail message with modified field, is a problem for many people today, because often
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22-
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25-

the modified field is the address of the originator. Spoofing the sender's address can
fool e-mail recipients into thinking that messages are legitimate traffic, thus inducing
them to open e-mail they otherwise might not have. Spoofing can also alter data being
transmitted across a network, as in the case of user data protocol (UDP) packet
spoofing, which can enable the attacker to get access to data stored on computing
systems.

Another variation on spoofing is phishing, when an attacker attempts ro obtain
personal or financial information using fraudulent means, most often by posing as
another individual or organization. Pretending to be someone you are not is sometimes
called pretexing when it is undertaken by law enforcement agents or private
investigators. When used in a phishing attack, e-mail spoofing lures victims to a Web
server that does not represent the organization it purports to, in an attempt to steal their
private data such as account numbers and passwords. The most common variants
include posing as a bank or brokerage company. e-commerce organization, or Internet
service provider. Even when authorized, pretexting does not always lead to a
satisfactory outcome.

Authenticity of information is a/an -—-—-
1) aspect of distributing information among a Iot of people

2) method of making new information

3) reference to originality of information

4) property of circulating great amount of information

It's referred in the passage that ——--—eeeeeeeee

1) you shouldn't send or open each e-mall

2) sending e-mail should be done with a modified field

3) the case is you should assume that you know the sender of the e-mail
4) the origin of your received e-mail is not always clear

Spoofing, as it's referred in the passage, -------- 5

1) separates a wrong e-mails from a true one

2) refers to e-mails including legitimate messages

3) is the act of sending data being transmitted across a network

4) is to trick e-mail recipients to open wrong e-mails

Fraudulent means —----cecceeeeee,

1) are the most common variants providing Internet services

2) help the attacker to steal the personal data

3) are undertaken by law enforcement agents or private investigators
4) provide information related to finance and accounting

The word "purports" in paragraph 2 line 19 means -----—--eeeeeev .

1) seems 2) provides
3) acquires 4) needs
PASSAGE 3:

More recently. the policy research community working on government preparation for
large scale risks has promoted the concept of resilience, derived from ecology and
based on the notion of ecosystems. Applied to risk management. resilience is "the
ability of a system. community or society exposed to hazards to resist, absorb,
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accommodate and recover from the effects of a hazard in a timely and efficient
manner, including through the preservation and restoration of its essential basic
structures and functions. Resilience insists on continuity for all different Kinds of
systems and communities. Building the resilience of societies is consistent with
investment in prevention and preparedness as well as with enhancing crisis
management capacities. Promoting the concept of resilience is a powerful driver for
self-organizing risk and crisis management capacities at many different levels. The
concept of business continuity epitomizes the concept of resilience applied to a
company or a service, including public services. Business continuity ensures
businesses can continue to perform their core functions during crisis. even at a reduced
scale, and recover as quickly as possible.

Governments have a crucial role to play to strengthen resilience of their populations
and critical infrastructure networks. While the promotion of the concept of resilient
communities and systems at all levels can be addressed through regulation and is
reflected in national policy of some countries, governments remain the ultimate
warranty when capacities of resilience are disrupted at any level. In the eves of the
citizens, governments must provide crisis management and are held accountable in the
end if they do not. Countries, especially industrialized and emerging economies that
are essential hubs of the global economy, require exchange of practices and experience
from others to improve in an area that remains part of their fundamental role.

The best title for this passage is --—----------- 5

1) The importance of the ecology and ecosystems in risk management

2) The strategies should be developed to detect uncommon crises

3) Managing crises remains at the core of government roles in risk management
4) The nature of resilience and its new concept

Resilience, according to the passage, i§ —=-=====s=musmx,

1) the continuity of all different kinds of system and communities

2) the capacity to recover quickly from difficulties

3) a powerful driver managing an organization capacities at different levels

4) the ability of a person to manage terrible situations

The word "epitomizes" in line 12 means -------=-=—--—,

1) controls 2) represents
3) transfers 4) shares

If the resilience faces to disorder, ~=---memmamaae,

1) the essential hubs in country should be expanded

2) more investments must be provided

3) government, organizations, and people are all accountable

4) the government is ultimately responsible

It's referred in the passage that industrialized and emerging economies —---------- —
1) require a new role in global economy

2) exchange their practices and experiences

3) are important centers of global economy

4) improve their fundamental roles



Y axio 822A (MDY) oS = OleMb! 4c goxe

o slos )3

€39, o0 o0laiwl (559l9ST £ plal i Y Gl g byl jlews 50

55 yoca - cslalany (¥ S yoca - 03,25 ()

Sladauly - ol (F Sladasly - 63,28 (¥

! W98 o iy (gl agi )0 3 ped 3 o

sbj- ok (f s = ol (V sbj-ps (¥ CETERG

Ol)lolw SO ASTy 5 S 12051 Dlegudge b S0 51 ! Slawsal (b)) 3 Sl el jlane plas
faml b yo (lakisd 9

oy el (F Sl (7 S i, (¥ sl ()

Jlosio 1) Gl Gu Ld) 5l g0l j olaai () 3 aF (iisy iie Jaaze (51 camili Slojlw jLis L
sl (F S S0 (F S S gnl (¥ S8 (0

Fmsl (Gilojlw Sl 45 52 1 4l po plaS (S92 L 3 9aST g (oo oailsd el Conl

5 IS5 (F Sy (¥ Sasn (¥ J#t Q)

ol Gl Baa 5 J5 51 (S s5 s sl p OV gare | (o900 Slasi adgi b plejlw plas o

sl (F Sk (v el (Y Sl (A

faiiud puati blac 30 Cuwoglie LYD £9 pl05 932 v yay (o 3F STHol 9 D0l lads>

lojlo - (Slajlo (F $38 - glojl (¥ ol - 593 (¥ 63— 59,8 ()
izl 3,5, alus JSly il go G gy Slawie 3 LolSils 1o a5 axl wilea ity 3l
Yol b ylo sl

analor oui)lag S (F ol (e (F oy (¥ Skl ()

Sl lojlus 3o U1 3 (59159 e (gl yidie IS 932 st iy laanly las 0 0L 5 GbLS g ilie 558
Sl gl - Kin 8 (¥ 58,8 il glia (0

&l - g sl (F bl aalie - (5,550 (Y

s Caimdlar Oldlao j0 ol £9o90

e Dl (g (Y 3 D)8 ()

Ko yd 0 oy s (F oyl bl olal pwy 0 (7

Tz €9y Jl» @ )l )0 Lol £ 990

el b obejbo o3l oL 1 (Y Seslo b 5l bols (A

Jeslo b 28 pllas LLS I (F Sesla b a8 (ails bobs (Y

Cog anles ax ol 1 Jeols azut (ail 03,5 an of ldos jl ool s & J 5 slas jluibiw! &5 Sloj

3 il (¥ = F e O
Flbes gjloaig (F by a4 2l S (Y

= 0

-YY

¥y

-YF¥

-Yo

-Ys

-Yy

-YA

e

_fo

-f)

-FY



A axio 822A (MDY) oS = OleMb! 4c goxe

PIAS 332 5 9,19 0,L0l (539 y4cl p g AT @ T b ag2lge g1y (SOl g (e > (9 51950 (Pmn
99500 slost 4 (5 32 yaali pp (502,509,

ol Al 9,50, - 5alS 2 5, (Y ehamdl 3,50, - 5l 2 2, ()

ail B 5 S5, - gl A0 (F ST 55, - gl &I (T

i slaS (g0 yaal pp ST 30 Sy paamss 5y 9laie

il Jao 3955 Glojy SIS 45 (5 yame ()

.c.....l):..:.:._,mjo-lq}an‘_;ﬁ....(\’

3,8 3925 1 33 (59bj 5,5 S Jlazal 45 (g ps (F

)M 392 ol )0 Bas 4 G Gl &5 (g e (F

395050 slosd & L lojlw 595000 G120 5 Aduwd plaS g3 (9 Sled puend

PE S Coge | PUEZ B W I § ¢ B sl o Sl (A

s> olazill b (F S golaisl o 8 (Y

i plojlo aoy yammns )0 J 528 (120 83, sl

obojle ol zakaw (LS 5 plpae 4 Lol ags 25O

wheile slaanl @ o by (g5bes lulenl (Y

ol sal culan (gl slad > ol 65 S (T

slaiel o e 5, 8en 4SS (F

SlP GRS by AVl G0 @ U sl Jae oidle joudl g S JLio @ Glojle Sn s plas
S8 bl 5Lid ya0 Oy Slns

gl (F Al SIS @l (¥ S5 9,9 ()

plAS )lzo (S oo s eleal (f395 (gl 4 w0 g0i planil (peluSl dle S o sl SIS (il @ s 00
il 00 Y30 (5 o s 2ilo

ol izt (F selis izt (F (1) o (¥ el s (0

el a ki cuols plas wluly Sag8 Sleladl g Slessai (Oludi §1 30 S)p slap £o8y Jleis!

Sl yaad JiB
wlojludgs (¥ Sl S elsa ()

adgl kol 4 4y Sl (F wf slaadl> (7

@ Bolar ol 4 slaolasy )3 oSl (Al § (ot KB 31 (51055 2 o poe S Kimld b
£3,10 o,Lol Jign £ plas

sible (F & ke (¥ =l (Y sl ()

-FY

-¥F¥f

-¥a

-¥¥

-FY

-fA

-F4



822A (1BY) S = Sl 4 goxe

-'Jl"ih.f""..‘)
Feal plas (X)) alals il f(X) = ———= 1 -8)
x"+1
X
QO
\—x"
X
x
x' =1
\=x"
(v
X

fedlu lei oo B> F 30y wi> TARASHT aols Gg)> L lads - 0Y
YYF ()
Y¥o (¥
YFE (Y
YVo (F

X+YInY ¢y
)n \ Lol Ay
X—»0 X

f QO
A (Y
VP (T

|

e (F
1
Sl "JS Xx=\ M)Q y:(Arctanx)x eu- oo & _AF
'\ 7 Y
= ===y ()
S ZUN 7 b 4

\ @ ¥
—+—In(—) (¥
L Rl ¢ 1



Vo axio 822A MAY) oS = OleMb! ac goxo

a-—\

. a ’\+x
Yol plas” lim F(a) il F(a)=j—‘ \——xdx S -08
s

Y=}
Y

f1d
— (Y
¥

T (¥

—(F
Y

Oi)féi" x=Y «h&,au;a;oxwwb,hy,,m,y=x'+x+\ WQO’WQ,’UG»M -0f
‘.‘Cu»‘ﬁ‘..\f

Y
Vr

(¥

AR
Y

Y(f

Y

oz r
fewl plas s ==\,r=Y 6|3|qa— Hlade alb y=rs"—\'r,x=\'r+§,z=xv+xy-)" S -ay
r

—# ()
-y (Y

f(r

O (f

fowl plas YX+Y =0 bbb f(x.y)=x"+xy-y"+bx &L laie oy yds -0A

VY ()
Ye (¥

Yy (F

Yo (F



1) axao 822A MAY) oS = OleMb! ac goxo

foww! plas x* v po X (s0ar0 slaylel o f(x)=(x+\)e_‘ &U w0 -4
\
— ()
\d

(¥
(¥

(f

ol= Fl-3l-

polio jl SSplas O wouwl (oSO +iSiN0) & g0 ZV4+ZT 4+ 2T+ Z 1= 0 Aol solss 5l S -F
Yol )

T ()

Y
— (Y
)

(¥

_(f

€318 yauo i sBOIe> ) Volee sliws K polie plas gl3las - )
YxX+Kky—-z=o
kKx—-y+Yz=0o
X+VYy—-Ffz=0

Y
==X ()
f

—qv (v
f



)Y axio 822A (11BY) oS = SleMb! 4c gore

F oy
fowl plas X g yile AX=A'-¥I w_;h&hﬂ)}'.)\:[ o] So-Py

[ F —v4q]

\
RN
(¢ —va]

(
-4 f)
(v -vq]

(r
—f Y
[y ¥ ]

(f
— a _f J_.

08,0, A0 F i i Bad & T i Cule! Jlaaa ! SiiS co Sl Bud & p S plaS b Il aw  —PY
FulS oo Colol Bun & H0 90 hid i plus L .Cul
o, FAY (\
o, fV# (Y
o,/ FOY (¥
o/ FFE (F
SN ) SO Blas Jlis) plus b el g0 Al Bolal & o3 4w due S 4 9T, YFD ABIL -PF
3,18
Ta
q

[
— (Y
q
—_ (Y
\A
i (f-
\Y
fowl plas COV(X,Y) el pj Joiol 22595 510 Y X Solai yuico g0 -F0

‘ O,‘ 0/\6 O/Y

Y 0/" °/Y6 o

-0, FF ()
o, #F (Y
o/VF (Y

—o, Y& (F



W axio 822A (1BY) S = Sl 4 goxe

ol plaS P1S XS Y] oot faati b il 5 Jlass! J8a ol syl X Bolai yuiio 1 55

Y.
f(x)= ax’ ;o<x<¥
0 L& plw

Sl plas X puSils ol 3 0o X dinn Solai puiiio Jlosio! 20595 @b PV

X Y—x
r(x)=(r)(l) (l) ;X =109,),Y,¥
X\ Y Y

f ol plas o] ailes 31 Aol s GBS 5 Jlglyd a3 Joum 30 -FA

Yo-Yd | Yd—Yo | Yo—YA | Y&—Fo | Fo—Fd

\Y A Y¥ \e \#7

o/BA ()
o,#F (Y
-:",fV¢3 (Y
oY (f
Wl a8 S Culs i Yoo ST i) o jUad G e Gl am Hlal (p e l aeeyd ¥ ALLAS OHlu @b PR
fow! plas € gl pol> adgn d 'y yiluee plod Aol Jledabr p €oiw yi adgo & &5 O aSC5! JlosoIr S
7Y
\0
\YA
— (Y
Vo
Yy
\o
\#F
[N






